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GUESS PAPER - 2008
Class - X
SUBJECT - MATHEMATICS
35. Find the zeroes of the polynomial 
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 and verify the relationship between zeroes and coefficients.(-2 , 0)

36. For what value of c does the following system of equations represent parallel lines? 
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37. Using Fundamental theorem of arithmetic, find the LCM of 2231 and 2813(6275803)
38. Show that 
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is irrational

39. Find a quadratic polynomial whose sum and product of the zeros are 
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 and 
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 respectively.

40. If each side of an equilateral triangle is ‘2a’ units, what is the length of its altitude?(√3a)

41. A solid cylinder of radius ‘r’ cm and height ‘h’ cm is melted and changed into a right circular cone of radius ‘4r; cm. Find the height of the cone.  (h=3/16)

42. Find the value of ‘k’ for which the quadratic equation (k+1) x2 + (k+4) x + 1 = 0 has equal Roots.(2,-6)

43. Find the value of p for which the points (-1, 3), (2, p) and (5, -1) are collinear.(-3)

44. If the point P(x, y) is equidistant from the points A (5,1) and  B(-1, 5), prove that 3x = 2y.

45. How many terms of the AP 
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 will give the sum zero.(-5,5)
46) Prove that the intercept of a tangent between two parallel tangents to a circle subtends a right  angle at the centre.

47. If the sum of first n terms of an A.P. is given by Sn = 4n2 – 3n, find the nth term of the A.P. 

48. Obtain all the zeroes of the polynomial  3x4 + 6x3 - 2x3 – 10x + 5, if two of its zeroes are √5 / √3  and  -√5 / √3.

49. One letter is selected at random from the word ‘UNNECESSARY’. Find the probability of selecting an E.

(2/11)

50. Three cubes each of sides 5 cm are joined end to end .Find the surface area of the resulting solid.
250
51. The lengths of two cylinders are in the ratio 3:1 and their diameters are in the ratio 1:2 .Calculate the ratio of their volumes.(3:4)

52. Tickets numbered from 1 to 20 are mixed up together and then a ticket is drawn at random. What is the probability that the ticket has a number which is a number of 3 or 7?(2/5)
53. Find the least number of coins of diameter 2.5 cm and height 3 mm which are to be melted to form a solid cylinder of radius 3 cm and height 5 cm.(96)
54. The radii of two cylinders are in the ratio 2:3 and their heights are in 5:3. Calculate the ratio of their volume.(20/81)
55. The volume of two spheres are in the ratio 64 : 27. Find their radii if the sum of their radii is 21cm.the height of a cylinder is 15 cm. the curved surface area is 660 cm². find the radius .(7 cm)
56. The circumference of the edge f a hemispherical bowl is 132 cm. find the capacity of the bowl.(19404 cm3)
57. An electric pole is 10 m high. If its shadow is 10√3 m in length. Find the elevation of the sun.(30)
58. The largest cube is carved out of a cube of radius 7 cm. find the volume of the sphere.(1437.3 cm3)
59. A vessel is in the form of a hemispherical bowl mounted by a hollow cylinder. The diameter of the hemisphere is 14 cm and the total height of the vessel is 13 cm. Find the capacity of the vessel.(27020.6cm3)
60. Prove that the ratio of the areas of similar triangles is equal to the ratio of the squares on the corresponding sides.Using the above result, prove that “ if the areas of two similar triangles are equal , they are congruent”.
61. If a line is drawn parallel to one side of a triangle, prove that the other two sides are divided in the same ratio. Using the above result, find AB when in ∆ABC , DE ║ BC so that AD = 2.4 cm , AE = 3.2 cm and EC = 4.8 cm.(6 cm)

62. In a triangle, if square of one side is equal to the sum of the squares of other two sides, then angle opposite the first side is a right angle.using the converse of above theorem determines the length of an altitude of an equilateral triangle of side 2a.(√3a)
63. The ratio of areas of similar triangles is equal to the ratio of the squares on the corresponding sides.  Prove.Using the above theorem, prove that the area of the equilateral triangle described on the side of a square is half the area of the equilateral triangle described on the diagonal. 
64. If the radii of the ends of a bucket 45cm high are 28cm and 7cm.Find its capacity and surface area.(48510 cm3 , 5461.5 cm2)
65. A bucket is in the form of a frustum of a cone and holes 28.490 litres of water. The radii of the top and bottom are 28cm and 21cm respectively. Find the height of the bucket.(15 cm)
66. A spherical cannon ball, 28cm in diameter is melted and cast into a right circular conical mould, the base of which is 35cm in diameter. Find the height of the cone.(40)
67. A toy is in the form of a cone mounted on a hemisphere of radius 7cm. The total height of the toy is 9.5cm. Find the total surface area and the volume of the toy. (470.8 , 847cm3)
68. A spherical shell of lead, whose external diameter is 18cm, is melted and recast into a right circular cylinder, whose height is 8cm and diameter 12cm. Determine the internal diameter of the shell.  (4 cm)
69. A metallic right circular cone 20cm height and whose vertical angle are 60 is cut into two part at the middle of its height by a plane parallel to its base. if the frustum so obtained is drawn into a wire of diameter 
[image: image7.wmf]16

1

 cm, find the length of the wire.(7964.4 m3)
70. Water in a canal, 30 dm wide and 12 dm deep is flowing with a velocity of 10 km/h. How much area will it irrigate in 30 minutes, if 4 cm of standing water is required for irrigation?(450000m3)
71. A solid iron pole consists of cylinder of height 220cm and base diameter 24cm, which is surmounted by another cylinder of height 60cm and radius 8cm. find the mass of the pole, given that 1cm3 of iron has approximately 8g mass. (Use =3.14).(892.26)
72. The height of a cone is 30 cm. A small cone is cut off at the top by a plane parallel to the base. If its volume be 
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 of the volume of the given cone, at what height above the base, the section has been made? (20)

73. If the nth terms of an A.P is (2n + 1), find the sum of first n terms of the A.P.
74. Find the sum of first 10 terms of an A.P., in which 3rd term is 7 and 7th term is two more than thrice of its 3rd term.
75. If the sum of n terms of an A.P.is same as the sum of its n terms, show that the sum of its (m + n) terms is zero.
76. Find the sum of first n odd natural numbers.
77. If the 8th terms of an A.P.is 31 and the 15th terms is 16 more than the 11th terms find the sum of first 20 terms.
78. How many terms of A.P.: 24,21,18,…….. Must be taken so that their sum is 78?
79. The angles of a triangle are in AP.If the greatest angle equals the sum of the other two, find the angles.
80.  How many terms of the sequence 18,16,14…… should be taken so that their sum is zero.
81. Find the sum of all the natural numbers less than 100 which are divisible by 6.
82. The sum of n terms of an A.P.; be 3n2 – n and its common difference is 6,find its first and 27th term.
83. The sum of nth terms of an A.P. is 3n2+ 5n, then find its nth term.
84. If the pth term of an A.P.is q and the qth term is p, prove that its nth term is (p + q – n ) and (p+q)th term is zero.
85. If m times the mth term of an A.P. is equal to n times the nth term, show that the (m+n)th terms of an A.P is zero.
86. The 4th term of an A.P. is three times the first and 7th term exceeds twice the third term by 1.find the A.P.
87. For what value of n ,the nth terms of the arithmetic progressions 63,65,67……..and 3,10,17,…………are equal?
88. The vertices of a triangle are A(3,4), B(7,2) and C(-2, -5).Find the length of the median through the vertex B.
89. The co-ordinates of one end of the diameter of a circle are (3,5) and the co-ordinates of its center are (7,4). Find out the co-ordinates of the other end of the diameter.
90. A is a point on the y-axis who’s ordinate is 5 and B is the point (3, 1). Calculate the length of AB.
91. The mid point of the line segment joining (2a, 4) and (2, 3b) is (1, 2a +1). Find the values of a and Prove that the points (3, 0), (6, 4) and (-1, 3) are vertices of a right-angled triangle. Also, prove that these are the vertices of an isosceles triangle.
92. In what ratio is the line segment joining the points (-2, -3) and (3, 7) divided by they-axis? Also, find the coordinates of the point of division.
93. Show that the points A (1, 2), B(S, 4), C(3, 8) and D(— 1,6) are the vertices of a square.
94. Find the co-ordinates of the point equidistant from three given points A (5, 1), B (- 3, -7) and C (7, -1).
95.  Find the value of p for which the point (-1, 3), (2, p) and (5, -1) are collinear.
96. If (-2, -1); (a, 0); (4, b) and (1, 2) are the vertices of a parallelogram, find the values of a and b.
97. Prove that the points (-4, -1); (-2, -4); (4, 0) and (2, 3) are vertices of a rectangle.
98. The vertices of a triangle are (—1, 3); (1, —1) and (5, 1). Find the lengths of medians through vertices (—1, 3) and (5, 1).
99. Show that the points A (2, -2), B (14, 10), C (11, 13) and D (-1, 1) are the vertices of a rectangle.
100. Determine the ratio in which the points (6, a) divides the join of A (-3, -1) and B (-8, 9). Also find the value of “a”.
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